Adding Mixed Numbers

Name: Score:

Calculate and show your answers in the lowest terms

35 + 24 = 15 + 23 = -~
24+ 12 = 2+ + 35 =

24 + 14 = 24 + 15 =

12+ 12 = 5o+ 14 = 42 + 24 =
12 + 2% = 24 + 6 = 2% + 2% =
24 + 33 = 23 + 4= = 32+ 13 =
e 4g + g = 33 + 4o =
24 + 32 = 25 + 28 = 24 + 24 =
29 + 25 = 2% + 14 = 22+ 1% =
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Answers

Calculate and show your answers in the lowest terms

3%+2%:5% 1%+2%:4% -

24 + 13 = 3L 2+ + 3% =55

2%+1%:3% 2%+1%:3%

1% + 12 =3+ So o+ 15 =T+ 42 + 24 = 6%
1%+2%:4% 2%4—6%:8% 2%+2%:5;—
24 + 33 =5+ 23 + 42 = 64 32+ 12 =53
3L+ 12 =53 g+ 4 =81 33+ 4p =72
24 + 3> = 6+ 24 + 22 = 5o 24 + 20 =4
24 + 2L =51 2% + 14 =45 22 + 12 =4
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